CURTAIN FIRE DAMPERS

D28

STATIC CURTAIN FIRE DAMPERS ¢ 1 1/2 HOUR

DIMENSIONAL DATA:

H=
DUCT SIZE
+1/8"(3)

r We
Size . Tar (6}\/

MODEL 0120: MODEL 0130:
TYPE B TYPECR

For overall damper dimensions see sizing chart on page D53.

PERFORMANCE DATA:

MODEL SERIES: 0100V/H - 1 1/2 HOUR LABEL

RIC Nailor

MODEL 0140: MODEL 0140:
MCT)BEE ‘():150- TYPE CSR TYPE CSR
WITH COLLAR  WITHOUT COLLAR
(STANDARD)

Curtain type fire dampers impose minimal resistance to air flow in the system. The following charts indicate both free area for the different

damper types and static pressure losses for various velocities.

Type A Damper Free Area — sq. ft.

Duct Width in inches (mm)

To determine pressure drop across open damper, calculate free area velocity
as shown, find velocity on curve and read across for s.p. differential.

6" [ 12" | 18" | 24" | 30" | 36" | 42" | 48" | 54" | 60"
(152)|(305) | (457) | (610)| (762) | (914) | (1067) | (1219) | (1372) | (1524) Free Area Velocity (fpm) = __cfm
6" (152) 141 33| 52|70 .89 |11 | 13 | 15 | 1.7 | 1.8 Example: Free Area
= 12305 | .31 | .72 |11 |15 |19 |24 | 28 3.2 3.6 4.0 1 - 36" x 24" Damper required for 8,500 cfm. (Type A)
E 48 @457) |48 [ 11 |17 |24 | 30|37 | 43 | 49 | 56 | 62 Fay = 8500
0 - 5sq. ft. =1700 fpm
2| 24"610) [ 65| 15|24 (32|41 |50 58 |67 | 75 | 84
g 30" (762) 32 |19 13014115263 73 84 95 | 106 1700 fpm located on the ‘A’ curve shows a pressure drop of .07 in. wg.
S 367 (914) | 99 | 23 [ 36|49 63| 76| 89 | 102 | 115 | 128 cfm = cubic feet per minute
= - fpm = feet per minute velocity
-5 | 42'(1067) | 12 | 27 | 42 | 58 | 7.3 | 8.8 | 104 | 11.9 | 134 | 15.0 S.P. = static pressure in inches water gauge
; 48"'(1219) | 1.3 | 3.1 | 49 | 6.6 | 84 |10.2| 11.9 | 13.7 | 155 | 17.2 FAV = Free Area Velocity
S| 54'(1372) | 15 | 35 | 55 | 75 | 95 [115] 135 | 155 | 175 | 194 Imperial System Shown
60'(1524) | 1.7 | 3.9 | 6.1 [ 83 [10.6[12.8] 150 [ 172 [ 19.4 | 217 To convert to SI (metric) system:
Multiply cfm by .4719 for liters per second
Type B Damper Free Area — sq. ft. Multiply fpm by .00508 for meters per second
Multiply in. wg. by .2486 for kilopascals
Duct Width in inches (mm) Multiply sq. ft. by .0929 for square meters.
6" [ 12" | 18" | 24" | 30" | 36" | 42" | 48 | 54" | 60"
(152)[(305)|(457)((610)|(762)|(914)[(1067) [ (1219) | (1372) | (1524) Pressure Drop
6" (152) A7 1 39| 62 | 84 [ 11|13 | 15 | 1.7 | 20 | 22 oS
E 12"'(305) | 36 | 83 | 1.3 | 1.8 |23 |27 | 32 | 37 | 41 4.6 '2'30,
@ | 18'(457) | 54 | 13|20 |27 |34 |42 | 49 | 56 | 63 | 7.1 11?0) Yarm
> 5 ~ F
é 24"(610) | .73 | 1.7 |27 |37 |46 |56 | 66 | 75 | 85 | 95 = nia A
= 307(762) | 92| 21| 34|46 |58| 70| 83 | 95 | 107 | 119 o (o) / S
E, 36"(914) [ 11|26 |41 |55|70|85]| 99 | 114|129 | 144 g (%35)
2| 42°(1067) [ 13|30 | 47|65 (82|99 | 116 | 134 | 151 | 168 9o 2 /
g 48°(1219) | 15 | 35 | 54 | 7.4 | 94 | 114 133 | 153 | 17.3 | 19.2 5 © o |
54"(1372) | 1.7 | 39 | 6.1 | 83 |10.6[12.8| 15.0 | 172 | 195 | 21.7 = <
- Bl
Type C Dampers have Free Area equal to Nominal Duct Area. g’ ‘f;) + I/ I/
(20) 7/
To calculate Free Area of round duct: Diameter? x .00545 = Free Area (sq ft.) g B // 7
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Free Air Velocity in feet per minute (m/s)





